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      Linear equations in two variables.( part –A)
Solve the following systems of equations.

1) x-y=0 and 2x-5y= -4.

2) 3x-8y=-2 and 9x+4y= 8.

3) 11x+17y=67 and 17x+11y= 73.

4) 2x-y+4=0 and 3x+2y-1= 0.

5) 65x-33y=97 and 33x-65y= 1.

6) 101x+99y=499 and 99x+101y= 501.
7) 1/2(x-y) =1/3(2x+4)and 1/3(x-y)=1/2(x-24).

8) 5/x+10/y=2 and 60/x+40/y= 19.

9) 2x-3/y=9 and 3x+7/y= 2.

10) 7/x+8/y=2 and 2/x+12/y= -20.

11) If 2x+y=35 and 3x+4y= 65, find the values of x/y.

12) Determine graphically whether the system of equations

     3x-4y=1 and 8y-6x= 4 is consistent or inconsistent.
13) Solve the equations.

      3x-7y+10=0 and 2x-y+3= 0.

14) Solve graphically:

      3x-y=5 and 2x-y= 3.

15) Solve graphically:

       3x-y=3 and 2x-y= -2.
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